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«——————————— 4-byte delay
(1 quadlet = 1 physical channel)

(1 quadlet = 1 physical channel)
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Controller: Tx Device: Rx Device:
ChannelAddress Command RxStatus
Tx Device: Tx Device: Tx Device: Tx Device:
Command = |so4Bytes (48h) or IsoSync4Bytes (56h) Data Data Data Data
|
Tx Device: Tx Device: Tx Device: | Tx Device:
Command = |so3Bytes (46h) or IsoSync3Bytes (54h) Data Data Data
Tx Device: Tx Device: | TxDevice: | Tx Device:
Command = |so2Bytes (44h) or IsoSync2Bytes (52h) Data Data
\
Tx Device: | Tx Device: | Tx Device: Tx Device:
Command = 1so1Byte (42h) or IsoSync1Byte (50h) Data
Tx Device: Tx Device: | Tx Device: Tx Device:
Command = IsoNoData (40h)




